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2XU�DELOLW\�WR�PRYH�LV�IXQGDPHQWDO�WR�RXU�DELOLW\�
WR� OLYH� D� YLWDO� DQG� IXOȴOOLQJ� OLIH�� 0RYHPHQW������
G\VIXQFWLRQV� ZLOO� LPSDLU� RXU� SHUIRUPDQFH� DW�
ZRUN� DQG� SOD\�� LPSHGH� RXU� KHDOWK� DQG������������
SRWHQWLDOO\� OHDG� WR� SDLQ� DQG� GLVHDVH�� 2XU�������
DSSURDFK� WR� WUHDWPHQW�GRHV�QRW� MXVW� IRFXV�RQ�
WKH� VLJKW� RI� SDLQ��EXW� WR� DOO� RI� WKH� IDFWRUV� WKDW�
KDYH� FRQWULEXWHG� WR� WKDW� SDLQ�� :H� DUH������������
LQWHUHVWHG� LQ� JHWWLQJ� \RX� SDLQ� IUHH�� EXW� DOVR����
HQVXULQJ�WKDW�WKH�LQMXU\�GRHV�QRW�UHRFFXU� 
 
$66(66��'Ζ$*126(�$1'�0$1$*(�3$Ζ1� 
:KHQ�\RX�ȴUVW�ZDON�WKURXJK�RXU�GRRU��WKHUH�LV�
D�KLJK� OLNHOLKRRG� WKDW� \RX� DUH� LQ� SDLQ� DQG� \RX�
KDYH� D� OHYHO� RI� XQFHUWDLQW\� DURXQG� WKH� LQMXU\�
WKDW�\RX�KDYH�VXVWDLQHG��Ȋ:KHQ�ZLOO�Ζ�EH�DEOH�WR�
SOD\�P\� VSRUW� DJDLQ"ȋ� Ȋ+RZ�EDG� LV� WKH� LQMXU\"ȋ�
Ȋ+RZ� ORQJ� ZLOO� Ζ� QHHG� WR� WDNH� R΍� ZRUN"ȋ� <RXU�
SK\VLRȇV�ȴUVW�MRE�LV�WR�HQVXUH�WKDW�ZH�NQRZ�ZKDW�
ZH� DUH� GHDOLQJ� ZLWK�� 7KLV� ZLOO� OLNHO\� UHTXLUH� D�
UDQJH� RI� GL΍HUHQW� WHVWV�� 1H[W� ZH� QHHG� WR� EH�
DEOH� WR� KHOS� \RX� WR� PDQDJH� SDLQ� –� WKLV� PD\���
LQFOXGH� KDQGV� RQ� SK\VLRWKHUDS\� WUHDWPHQWV��
DGYLFH�� HGXFDWLRQ� DQG� SUHVFULSWLRQ� RI� EDVLF����
H[HUFLVHV� 
 
5(6725(�02%Ζ/Ζ7<� 
2QFH� ZH� KDYH� SDLQ� XQGHU� FRQWURO�� DQG� \RXU�
SK\VLR�LV�KDSS\�WKDW�\RX�DUH�UHFRYHULQJ�ZHOO��ZH�
ZLOO�IRFXV�RQ�KHDOLQJ�\RX�WR�UHVWRUH�PRYHPHQW��
7KLV� ZLOO� OLNHO\� EH� D� FRPELQDWLRQ� RI� KDQGV� RQ�
SK\VLRWKHUDS\� DQG� VSHFLȴF� H[HUFLVHV� WKDW� \RX�
FDQ�GR�DW�KRPH�RU�LQ�WKH�J\P� 
 
Ζ03529(�675(1*7+�$1'�67$%Ζ/Ζ7<� 
7KLV�SKDVH�RI� \RXU�SK\VLFDO� UHFRYHU\� LV� YLWDO� WR�
PDNLQJ�VXUH�WKDW�\RX�KDYH�IXOO\�UHFRYHUHG�DQG�
WKHQ�VRPH��*HQHUDOO\�WKLV�SKDVH�RI�UHFRYHU\�ZLOO�
EH�H[HUFLVH�EDVHG��*HW�UHDG\�WR�ZRUN� 
 
)81&7Ζ21$/�675(1*7+(1Ζ1*� 
7R� HQVXUH� WKDW� \RXU� UHFRYHU\� LV� IXOO�� DQG� WKDW�
\RX� FDQ� UHLQWHJUDWH� EDFN� LQWR� ZRUN�� VSRUWV� RU�
SOD\�� \RXU� SK\VLR� ZLOO� WDNH� \RX� WKURXJK� D�������
SURJUDP� WR� PDNH� VXUH� WKDW� \RX� KDYH� WKH�
VWUHQJWK� WR� JHW� EDFN� LQWR� D� IXOO� OHYHO� RI� DFWLYLW\�
DQG�SHUIRUP�WR�\RXU�EHVW� 
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